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PE Athlon 1.33 GHz< 1 (G), Intel Pentium-I1 400 MHz 8 (G2)

OS, Network | RedHat Linux7.0J (kernel 2.4.2), 100base-TX (Intel Pro100+)

Compiler gcc 2.96, -DHPLDETAILED -TIMING -fomit-frame-pointer

-O3 -funroll-loops -W -Wall, MPICH-1.2.5, ATLAS 3.2.1
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Measurement set oV’ total [ OOOOOO
400,600,800,1200,1600,2400,3200,4800,6400486 6.4 [hour]
400,800,1600,3200,6400 270 4.2 [hour]
400,600,800,1200,1600 270 0.37 [hour]
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Size e=(r—1)/T e=(+-T)/T
N N9 N5 NS N9 NG NS
3200 -0.018 | 0.019 | -0.106 | 0.000 | 0.000 | 0.608
4800 || -0.099 | -0.080 | -0.559 | 0.074 | 0.074 | 0.238
6400 -0.096 | -0.095 | -0.787 | 0.022 | 0.022 | 0.134
8000 || -0.124 | -0.146 | -0.983 | 0.015 | 0.015 | 0.100
9600 || -0.093 | -0.139 | -1.146 | 0.000 | 0.000 | 0.099
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